SNC 2P – Chemistry

Name: _______________

Introduction to Chemical Equations
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The Law of Conservation of Mass
· Matter cannot be created or destroyed in a chemical reaction – but rearranged…

· The total mass of the reactants MUST equal the total mass of the products

Writing Word Equations
“Hydrogen gas reacts with oxygen gas to form liquid water.”



hydrogen  +  oxygen    water


 All reactants    all the products

reactant 1 + reactant 2    product 1  + product 2
A skeleton equation is written by changing the words into chemical symbols.
H2  +  O2    H2O
** The skeleton equation may violate the law of conservation of mass because it doesn’t account for all of the atoms before and after the reaction.  In other words, it may be unbalanced. **

Write the word and skeleton equations for the following reactions:
1. Aluminum resists corrosion because it reacts with oxygen gas in air to form a protective coating of aluminum oxide.
Word:

Skeleton:

2. When fluorine gas reacts with calcium bromide, calcium fluoride and bromine are produced.

Word:

Skeleton:

3. Methane is a natural gas that burns in the presence of oxygen to produce carbon dioxide gas and water vapour

Word:

Skeleton:

4. When sodium sulphide and calcium chloride solutions are mixes, a precipitate of calcium sulphide and another substance are formed.

Word:

Skeleton:

To demonstrate the Law of Conservation of Mass, try this:
5. Sodium and Chlorine react to form sodium chloride.

Word:

Skeleton:

If 15 g of sodium reacts to make 40 g of sodium chloride, how much chlorine was used?



Sodium + chlorine = sodium chloride

 Mass reactants = mass products

15 + ?  =  40

              ? =  40 – 15

         ? = 25 g
Arrow means “produces”





Products on right side of arrow





Reactants on left side of arrow





Plus sign means “reacts with”









